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[516]] —REFFEEREAZEETHNTM, HD
KH X, TR Xy + Ax, BILLERWERNET S0
R B x B S = x?

 xoAx (Avr
E Rt 8k Ax

AS = (x) + Ax)* — x7
= 2x,Ax + (Ax)* 0

=0(Ax)

M Ax RV, AS ~ 2x,Ax FRA S £ x, BIRD)
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[EX 5.1] IZRE y = f(x) & xy BIEIH U(xy) K
BEX. EFERHA &E15:

SHERR Ax (xy + Ax € Ulxy)), REHIIE S

AJZRT A
Ay = AAx + o(Ax),
MFRRE y = f(x) R Xy I, FRAAx BIR

Ay = f(xg + Ax) — f(xp)

£ Xo B9, 1ofF dy| _ sdf] _ .
[(F] BHARS5x,Bx, 5 Ax kx.
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[ 5.1] REf ER xp AIMIREREZE [ R X

7%, B

dyl,_, =f0pAx.

[EX 5.2] BRIy =f(x) &
", AR 9 1 EROR]RIEREX.

dy = f(x)Ax,

2T

X8 [ ERIE

x€el.

Ay =dy + o(Ax) = f'(x)Ax + o(Ax),
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[FIE 5.1] A, R f £ [ LE—= x BT 1CE

(1)

xel.



[(EX5.1] &y =f(x) TR x AIfA,
m Ay 238 Ax - O LS/ BE(x) #0, &
FNKAR:

Ay ~dy = F()Ax  (Ax — 0).
WD dy 22 Ay WEEED.
XER dy = f(x)Ax 2 Ax HIZERE, FRAFRED
dy 2ig= Ay W& 4EEEE.
[5] 5.1) REE y = x° (9L E Ay 549 dy.
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[(£52] R y=x,H
dy = dx = (x)'Ax = Ax.
Bl: BEESMEESTEZEENND.
HM(1)IN BN
= f'(x)dx.
M

dy .
— =f'(x) 1if dx#0.
dx

ALLt, SEBETRARE.
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[’ 5.3] 2AFRMSASFMN, BEMoHNFEEMTA
HE’Jd‘E%U
REER—R X E’fotz, 25 x BX;
’-%J‘ PREFER —= x &b SHIEE Ax Fi5|FEH
AT =M ENEESD '5 x, Ax #EX.

717



S 2.5.2 M HZEEN



L] .

SHSHAMER dy = f(x)dx T

] -

1. ERYSFRBNAHND 2N (REH5111700)

2. Mhhz&E0
I REN u(x), v(x) AR, N

d(uv) = vdu + udv,
U vdu — udv
d (—) = (v #0).

12
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d(c;u + ¢,v) = ¢;du + c,dv (¢, ¢, € R),



3. EAI‘Z@&E’]’E&Q
REL y = f(u), u = @(x) 1371, N
dy = d[f(¢x))] = f(w)e'(x)dx.
+ du = ¢'(x)dx, KALRE
dy = f'(u)du .
XB u=¢k) BREEE, x TREIENBESE!
BESMNKu AEBEZ=MRN y = f(u) MOV —F!
Bl: Mg u nEZ=XRZEPERIZTE, BE Y = f(u) BRI
P HIVERE AR, XHEFRA“—M R IR A E ]
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BT ETERAARZY, BIIZ2Z—TRN y =f(v) &,
A] >X 11%1% u NEEZ=EKRENHD dy = f(u)du,
AREELN « REREEZXEXREPEES!

[f5] 5.2] y = ln(l +e 2). X dy.

[5] 5.3] d( ) =xdx; d( )= cos(wr)dt.

[45] 5.4] y = e ** cos(2x). 3K dy.
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S 2.5.3 WMo EELLTEFRRINA

1. REEDELLTE
2. I=EMIT



1. REINELOTERE SRy = f(x) £ xy ?IREY, B
Ay = dy + o(Ax) = f'(x))Ax + o(Ax),
= |Ax| < 1 B/, B Ay =~ dy, #im
J(xp + Ax) = f(xy) + f'(x9)Ax,
e x xR x) HE
Jx) = f(x) + 1 (xp)(x — xp) . (2)
mid (X, f(xy)) BIZHTEN
y = f(xp) + (X)X — Xxp),
JUEIEX: 35 x RO TR x) B, sTAYIZ TS HZ
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5 | x| R/, BAIHIEMAT
(1+x)*~1+ax, smx=~x, tanx~
e~ 1+x, In(l+x) ~x

[5] 5.7] 3K sin 30°30" BIIE{LUE.

A,

[5] 5.9] — D2 1 cm WIK, N TIRSKE

2, EEEF—EiH. EEEEEN 0.01 cm, (&1
Z /D572 ANEER 8.9 g/cmd)

i
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2. IXREMIT
REIT=0BRERN A RAD), ELUERN a (M=), N
|A—al: alBIIRE

|A —al :
. a BIEMIRE

ja|
% ‘A—Cl‘ §5A,|)_|JJ
5, A MBI ER

Oy ‘
— A NEMIRZER

a]
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IREZBL I
= x eBANEFE, 2y fHRE y = f(x) 1TEEE,
aNEE x) ANREEN O, Bl |Ax| =[x — x| <0,
= o, IR/NET, B
| Ay | = [f(x) = fxp) | = | f(xp)Ax| < | f(xp) [0,
By REINRERAN O, = | (%) | 5,

5y ~ | f'(x0) | 5

Yol 1fGo)|

y BIMEXIRZERZY Y
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' [fEAL] P116-117
Ax: 1, 2(2)(3). 4(2) (4). 6. 8

B2<: 3. 5
L |

—




